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23.

24.

CFwBensL LBBITEEGHMM  6T6IMBT6D 61601601 7

What is meant by artificial demand?

SBOUTHHUI FTHE 6laLmS aleUTHSHSD.

Explain the Existing goods

LOTBBIPenB  OBBID 2 MewTBm Reneusenet CaumiL®BsHHIs.
Differentiate between Negotiability and Assign ability.

S (H.LIT6VSST  6TeTLIeUT OLUITHISHSEBEIBHHEVIE cLpevlD Q(HoU(HESG LIewiHensd OB
CaTHHs HmansHBTT. DieuT slaienr CFuIL CouewiBd? © 6T H(HGHMHDH Fnll.

Mr.Balan likes to transfer money to one through General Crossing. Give your
suggestions to Mr.Balan regarding general crossing.

UG&H--IV

SImaHH AaMHHEHHGD allenl W6 a]Lb. 3x5=15

25.

26.

27.

algalevd@ Glosvmentenloulle HeETeNIDHMETSH FnBIsh.
(SI606031)
Buis@BTEeNer HGSHullearenosemernt LI 1guiedBHsb.
State the advantages of MBE. (OR) List the disqualifications of a Director.

fp Pl auemIs : o) alpluF Fhwd ) OFarbFsdHed (Sensex)
(D16060F))
oars WBEID BSTIUB CHTIHe0WwmeCaiTeny CaumuBHIH ST ([Hb.
Write short notes on
A) Optional Market B) Sensex.
(OR)
Differentiate between Rural and Urban Entrepreneur.

@AUBurgl Feorm 1oL (HLO6LEVTIDED 2 60% BHTHHMETCL DIFFBISHHID CBTGyTe0TT
meUTerVSE BOG DHHUW HSHHI JTUIFF Heyeiterdled LO(HHSI
sWIBLIRSHHTe0 Femmalsvieien @ (HHHawme 3 Camy dHUTUISHE
UM CETBHHB. DISBE BOSHI W(hSSHIeUS SHeyeidled DIBHS UMD FT&HES
(ID(BHS) DI@IIAISTHS FmBIUeTeNHl. F6ul LO(HHSHIAUDMETEDUILT CLITBISSH6)6m]T
Bg aalemBWTal FTHE?7 DigHmen aleufl.

(DI6060SI)
BIOGH DHHUISH SHHBTLIGEL L0 &S SHLmselled Lwemeldehd@®Hs 6Feoev
Gouemrigu! LOTENWSMSF ST UbHDH DL SHHTHTHE UHHHHMS DISHMBMIUL
SHLLID 6181? ol LB afleufl.
A Hospital in China gave order for Rs.3 Crore for the purchase of medicines with Indian
Medical Council, because our Indian Medical Council invented medicines for the corona
virus which is global threat to mankind. Our Indian Medical Council accepted the order

and promised to deliver the medicines within a week time. Find out the type of Goods
considering the order given by China Hospital.-Explain

(OR)

Mention the scheme that enables direct transfer of subsidies to the intended
beneficiaries and therefore eliminates all the intermediaries and leakages in the system
which has a potentialimpact on the lives of millions of Indian Citizens.
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TALENT ACHIEVEMENT TEST FOR TOPPERS - FEB 2020

&reold : 1.30 mewfl 12-94in auGn] aleollsaeluie (COMMERCE) w#ieueor : 50

uGF & : gflwrer alewLemwsd CHTHOSHBHHH 61(1LSHIS 10x1= 10

. ouemlas 2 60860 CuBBISTLTS HIMWMSBEG SLayFFL B Curaisal 61gl?
ol) Gueumewiend &) HifeuTsd &) Hpeww 7)) 2 wii HelF FpLiy
Which one is like a Passport to enter into a Business world with success from the
following?

A) Management B) Administration C) Talent D) Specialisation

2. a&mm (A) QuTpSSWTeT BHUMIL GUTHHSHLOTET Calenevdh@ SIDTHHIMISDI]
UeSHG I HHIH60
sMyenid (R) @ HSHHIT HiauTessHemnd Goeoreniento GFu1sImmT
o) (A) oppib (R) sflwmergd semed (R) (A) & alendsalsenew
=) (A) sfwraig  (R) seuprang)
® (R) sfwurens (A) sapras)
F) (A) sflwmerg (R) (A) 2 allendaalsvensv
Assertion (A): Recruiting a Right man for Right Job
Reason (R): A Doctor manages the hospital admin.
A) Aand R are correct and R does not explain
B) Ais correct and R is wrong
C) Ris correct and A is wrong
D) Ais correct R does not explain A

3. UeaeumeusiouBsled SHeummeidl 6157
9l) HBeOOWITET LiewlwTenTaemend GETemlghHbHTe0 2 eudenmaluwl Gum s
FhemHUlesT HeiTenloenILl G  euTUILIL|6TeNTG)
o) Fmbd OFwed Hmer OHmewiL UenlwmeniTdeT BHinleuaisHar Hiflsh Gous
aueMTFFlenwl SHIFH BB SHIHIUT
®) Fmbse uewiwTenTaeier Uesnienwill Lmgmlly, Guenrglud oasss OHTenD
QULPMISBLILIHEUSH 6066V
F) 106Mlg QUeTD LB SIHeTIHFH 6UETRISMETUD 2 (HeUTHEGSBSI.
Which one of the followings is a wrong statement?

A)The merits of Global Competitive market are possible if an organisation has
talented employees.

B) Executive skill of the employees can improve the faster development of the
organisation

C) Incentives are not paid in appreciation of the performance of the best employees
D) Human resources create all other resources
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